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FFe | LA T T2 FR FREIFA | FHERA 2 F RS B
1 080700 B 11 T TR A Eogs il fisi -+ 5= FH 79
2 080700 3171 T TR 3 4= H il fini -+ Tk 83
3 080700 B 11 TR & TR A Eogs il fisi -+ XI] ] A 82
4 080700 B 11 TR & TR A Eogs il fisi -+ Al a] ik 83
5 080700 B 11 TR TR A Eogs il fisi -+ X 82
6 080700 B 11 TR & TR A Eogs il fisi -+ THEF 86
7 080700 311 TR e TRE# ) B Eogs il fisi 1 FhIE 82
8 080700 B 771 TR L TRE# P 4= H il fiji+- i [H] R 79
9 080700 B 71 TR X TRE#H P 4= H il fiji+- BRIV 78
10 080700 B 11 TR R TR A 4 H il fiji 1 T 78
11 080700 311 TR e TRE# ) B Eogs il fist -+ AR T 89
12 080700 B 71 TR X TRE#H P 4= H il fil & T2 86
13 080700 & LR e TRE R B 2= H il fist -+ 21k 78
14 080700 B TR & TRE A 2 4 H i fiji+ ASHER 7
15 080700 B TR & TRE A #E 4 H i fiji+ Ly) 1B 84
16 080700 & LR e TRE R B 2= H il fist -+ Jip 78
17 080700 & LR e TRE R B 2= H il fisi -+ gk JH5 82
18 080700 3171 T e TREF 3 4 H i fii+ A T 83
19 080700 )71 LR X TRE# P 24 H il fii+ Ji& 80
20 080700 3 )1 TFE & TRE AL 2= Hl fisi -+ R 79
21 080700 571 TR X TRE#H P 4= H il fii+ P YT 80
22 080700 )71 LR TRE# P 4= H il fii+ H %% 82
23 080700 B TR TRE A 3 4 H il fiji+- R JE 83
24 080700 )71 TR TRE# P 2 H il fiji+- ki 88
25 080700 )71 TR TRE# P 2 H il fiji+- R ERE 80




26 080700 3 )1 TR e TRE A3 2= Hil fisi -+ T 80
27 080700 3 )1 TR R TRE A 2= Hil fisi -+ 2= 84
28 080700 3 )1 TR e TRE A 2= Hil fisi -+ [EEST 93
29 080700 B 5 TR e TRE A B 2= Hil fisi L Mozl 84
30 080700 B 5 TR e TRE A B 2= Hil fisi -+ AR 83
31 080700 B 5 TR e TRE A B 2= Hil fisi L T E 79
32 080700 B 5 TR e TRE A B 2= Hil fisi -+ + B g 84
33 080700 B 5 TR e TRE A B 2= Hiil fisi -+ k5l 71
34 080700 B 5 TR e TRE A B 2= Hil fisi -+ oK ik 83
35 083700 Zepr 5T 2 H il fisi I ESEl! 86
36 080200 Mk T2 2= Hil fisi 1 FRE 86
37 080200 Mk T2 2= Hil fisi -+ IESl] 85
38 080200 Mk T2 2= Hil fii -+ FRA S 87
39 080200 Mk T2 2= Hil fisi -+ Xl 5 Jz 82
40 080200 IR T FE 2= H | fiji -+ A 86
41 080200 U T HE 2= H | fi -+ S 79
42 080200 IR T FE 2= H | fiji -+ iKY 82
43 080200 IR T FE 2= H | fisi -+ T 84
44 080200 IR T FE 4= Hiil fi -+ * 84
45 080200 IR T FE 2= H | fi -+ AR 83
46 080200 MLk T2 E=ki fisi -+ FE5% 83
47 080200 MLk T2 E=ki fisi -+ = | 81
48 080200 MLk T2 E=ki fisi -+ LM 82
49 080200 MLk T2 E=ki fisi -+ NP 84
50 080200 MLk T2 E=ki fisi -+ Tk 77
51 080200 MLk T2 Esakil fisi -+ ARIEAE 77
52 085500 Bk 2= H il fisi -+ Jil ¥4 91.87




53 085500 IR 2 H il fisi -+ BEUIG 91. 33
54 085500 IR 2 H il fisi -+ + 5% A 90. 8
55 085500 IR 2= Hil fisi -+ 055 91.33
56 085500 IR 2 H il fiyi 1 7 91.07
57 085500 Bk 2 H il fisi -+ BUHEMR 91. 67
58 085500 IR 2 H il fiyi 1 B 7K % 92. 47
59 085500 IR e H il fisi L 2 90. 47
60 085500 IR 4 H il fiyi 1 M kA 90. 67




